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Whitney draws a pictogram to
show how many chocolate eggs
each class won at the school fair.

Key @ =5 eggs
Class. Number of eggs
1
2
3
4
5
6

Tom shows the same information in
another pictogram.

In his key, he uses a picture of one egg
to represent 10 eggs.

How many eggs does Tom need to
draw for Class 6

3 and a half

There are 32 children in Class 3 \OJ

The pictogram shows how the
children of Class 3 get to school.

cycle | bus | car

H
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How many children walk to school?

Write some questions about the
pictogram for @ partner to answer.
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Tally marks look like this:

I

The fifth mark goes across diagonally, like a gate.




image3.png
This pictogram has one symbol to represent 10 children.

Ways of Travelling to School

w (OO OC) ke
motorbike | (0) () (L (©) = 10 children

To represent

bus . . 5 children, a
picture of half
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Reasoning
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Mo and Sam draw pictograms to show how many cars they see.

Mo

Key . =5cars

blue | red | silver | black |green

What is the same? What is different?
Whose pictogram do you prefer?

blue

red

silver

black

green

Sam
Key . =10 cars





